Haryana Staff Selection Commission
Evening Session, 12.04.2018
Post:- JE

The basic value for vertical deflection of span to effective depth ratio for span upto 10 m for
simply supported beam is

1 7 (2) 12

(3) 20 (4) 26

haol 3Taeliacl S & foIT 10 m Teh Y FeITeT ITeTS 3He]uTel & Taedfcl & Fed fagiaor & fau e #Aet
fohder & 2

(1) 7 (2) 12

(3) 20 (4) 26

The basic value for vertical deflection of span to effective depth ratio for span upto 10 m for
cantilever beam is

(1) 12 2) 7

(3) 26 (4) 20

HETeNeR &1 & TIT 10 m Teh o TN ITETS 3gardl & faEgicl & S fqeidor & v a7t AT e
g?

(1) 12 2) 7

(3) 26 (4) 20

The basic value for vertical deflection of span to effective depth ratio for span upto 10 m for
continuous beam is

(1) 26 2) 7
(3) 20 (4) 12
Heldl s1e & TIT 10 m Teh & Fe7el 9318 3T & faeqgid & e faataor o forw ol &t fohciarr ¢ 2
(1) 26 2) 7
(3) 20 (4) 12

A compression member may be considered as short when both the slenderness ratios are

(1) Greater than 12 (2) Lessthanorequalto12

(3) Greater than or equal to 12 (4) Lessthan 12

TS 9T T T ST HIAT ST § STl aledl FRAAT HeTdTel &

(1) 1293108 (2) 12 F IS AT 39T FA

(3) 12 % SN T 3HA WS (4) 129%A

The nominal cover for beam should not be less than mm for moderate exposure
condition.

(1) 25 (2) 30

(3) 35 (4) 40

A & foIT AHAT FHax ALIA 3ema ufd & faw mm ¥ HF a1 gl AT |

(1) 25 (2) 30

3) 35 (4) 40



10.

11.

The maximum spacing for shear reinforcement for beam should be

(1) <300mm (2) <300mm
(3) >300mm (4) >=300mm
I3 & foIT 19FI0T YaoreT & forw 3f&ehas 3iawrer BT TR |
(1) <300mm (2) <300mm
(3) >300mm (4) =300mm

What is the dimension of Al size drawing sheet?

(1) 1189 mm x 841 mm (2) 594 mm x 841 mm
(3) 1230 mm x 880 mm (4) 880 mm x 625 mm
Al TR $T 31597 e &7 3T Fd=T g ?

(1) 1189 mm x 841 mm (2) 594 mm x 841 mm
(3) 1230 mm x 880 mm (4) 880 mm x 625 mm

Give full form of CL.

(1) Ceil Level (2) Center Line
(3) Cover level (4)  Chainlink
CL T [ ATH FAT § ?

(1) Ceil Level (2) Center Line
(3) Cover level (4) Chainlink

Give full form of C/C.

(1) Cement concrete (2)  Cubic centimeter

(3) Centerto Center (4)  Corrugated cast-iron
C/C T QU ATH AT ?

(1) Cement concrete (2)  Cubic centimeter

(3) Centerto Center (4)  Corrugated cast-iron

Give the full form of CAD.

(1) Computer Aided Data (2) Computer Aided Drawing
(3) Computer Aided Design (4) Computer Aided Drafting
CAD &1 9T #TH &1 g ?

(1) Computer Aided Data (2) Computer Aided Drawing
(3) Computer Aided Design (4) Computer Aided Drafting

What is the minimum size of the bathroom and W.C.?

(1) 5.5sg.m. (2) 5.8sg.m.
(3) 6.2sg.m. (4) 5.2sg.m.
EATAIE 3R W.C. T oA H TR fehcalr g 2

(1) 5.5sg.m. (2) 5.8sg.m.
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(3) 6.2sg.m. (4) 5.2sg.m.
is the mechanical process for setting in order the various planned activities by fixing

its time.

(1)  Planning (2)  Staffing

(3) Organizing (4)  Scheduling

faffee feraora sifafaft & a3 a0 Fie caafeyd s &T AT Ifshar FIT FHgaldr 872
(1) IS AT (2) T SR

(3) 3ImAE @) gAY YR

In which of this system the payments to individual workers are done according to the amount of
work done?

(1) Piece work System (2)  Time work system
(3) Quality work system (4)  Quantity work system
To=tifene & & foe O F 370797- 36197 HoT! T ATl ThT 1T A T AT & ITER T SATeT

g7

(1) WsFHR gormel (2) AT F YU

(3)  JTOTAT T JUTE (4)  HTEAT S YOI

In property class 4.6 the number 4 indicates part of the nominal ultimate tensile
strength.

(1)  1/100th (2)  1/10th

(3) 1/1000th (4)  1/10,000th

T AUT 4.6 H HEAT 4 WA JHTTH TeleT &THAT T HT ST AT | |

(1) 1/100th (2) 1/10th

(3)  1/1000th (4)  1/10,000th

The maximum value of slenderness ratio of lacing bars shall not exceed

(1) 145 (2) 180
(3) 125 (4) 120
AT TR o 2Tl eI T IHTARAH AT fhctad & 3T 7gT gler =R 2
(1) 145 (2) 180
(3) 125 (4) 120

Which section is used for design of strut?

(1) ISA (2) ISHB

(3) ISMC (4) I1SwB

¢F & f3armse & forv fona @s &1 39ter forar Srar g 2

(1) ISA (2) ISHB

(3) ISMC (4) I1SwB

A beam, supported on more than two supports is called as

(1) Overhanging beam (2)  Simply supported beam
(3) Continuous beam (4)  Fixed beam
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& T 377 TR aTell dclfad ST Sl FAT Fgd & ?
(1) gerer & (2) Fad HIATIT aNHT
(3) Tdag«E=A (4) @gadw

The bending moment diagram of a fixed beam, considering the beam as simply supported is
known as

(1)  p(Mu) diagram (2) W' (Mu') diagram
(3) Bending Moment diagram (4)  Space diagram

I HTeTel §U o 19T Shayel ITel(od & dF [T §1o7 7 Sehet 0T 3G &9
(1) pEpIME 2 wER) I

(3) ket 3TEET 3ME (4) 3Tl 3IRG
Fixed Beam is indeterminate to which degree?

(1)  First degree (2)  Second degree

(3) Third degree (4)  Fourth degree
foraa i forg ife T 3rease & 2

(1) waFFIfE (2 cladgfe

(3) qammIfe 4) TgIHIe

Bulk Modulus is defined as the ratio of normal stress to .

(1) Compressive Strain (2)  Normal Strain

(3)  Volumetric Strain (4)  Shear Strain

I FeITEAT 0TI Y WA SfTer & & 3requrel # AR fRar ST g |
(1) s fasfa (2 aw Al

(3) 3Mue faskfa (4)  3EEIT fapia

In a bending moment diagram, what will be the representation of Uniformly Distributed Load
between two points?

(1) Parabolic curve (2)  Straightline

(3) Inclined line (4)  Cubic curve

SeheT 3TEOT 3IRE A, & feg3it & ey TehaATe! faqRe HR T fEToT ) gra 2
(1) WaeIaTH (2 EIXEr

(3) 3o @r (4) TIITH

Unit of Stress in MKS unit system

(1) kg per square cm (2) kg persquare m
(3) N persquare mm (4) kN per square cm
MKS ShTS JoTTell H Yfaaer FaT 8 2

(1) kg ufa FoT A= (2) kg ufad FeT A
(3) N ufa et A (4) kN 9fay get @y

How much quantity of gypsum is added during the manufacturing of Portland cement?
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(1) 3to5% (2) 1to2%

(3) 3to6% (4) 2tod%
qicas Ydee & AT & e faegs i forde AT Sl STy 8 2
(1) 385% (2) 1¥2%
(3) 3¥6% (4) 28 4%

The theoretical water / cement ratio is

(1) 035 (2) 036
(3) 037 (4) 038
Aerifcren STor/MATE HeTdTe fohcttr § 2

(1) 035 (2) 0.36
(3) 037 (4) 0.38

At which angle in transit theodolite the line of sight can be reversed by revolving the telescope.

(1) 90° (2) 180°
(3) 270° (4)  360°
gifore RASiese # fhd 10T 0 €& Y@M qalleT ol GATRL FTdad! fomar ST Hehdl & 2
(1) 90° (2) 180°
(3) 270° (4)  360°

About which axis the instrument can be rotated in a horizontal plane?

(1)  Vertical axis (2)  Horizontal axis
(3) Inclined axis (4) Line of sight
fohar 3187 IR 3T T AfTST Tl H GHTAT ST Tehell & ?

(1) 333187 (2)  aifder 3T

(3)  3TeIc &t (4) TIEm

How many methods are used to prolong a straight line by theodolite?

(1) 2 2 3
(3) 4 4) 1
RIEiaTse & WXe Y@ &l &8 X & oI et ggufaar & 39T 3T ST dahdT &
(1) 2 2 3
(3) 4 4) 1

The size of plane table is

(1) 750 mm x 900 mm (2) 600 mm x 750 mm
(3) 450 mm x 600 mm (4) 300 mm x 450 mm
ToleT CaTel T TR fohcdelT § 2

(1) 750 mm x 900 mm (2) 600 mm x 750 mm
(3) 450 mm x 600 mm (4) 300 mm x 450 mm

What is the full form of GTS?

(1) Great Theodolite System (2)  Great Trigonometrical Survey
(3) Great Traverse Survey (4)  Great Trigonometrical System
GTS &I T ATH FAT§ ?
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(1) Great Theodolite System (2)  Great Trigonometrical Survey
(3) Great Traverse Survey (4)  Great Trigonometrical System

The building used for storage, handling, manufacturing or processing of highly combustible and

explosive material is

(1)  Storage Building (2)  Hazardous Building
(3)  Industrial Building (4)  Residential Building
IR saceler AR faThice: FHal & HSRUT, Feelel, HATOT AT JEHERIOT el & T 3ugera
$deT lT ATE ?

(1) #HSROT HaoA (2) Wl Hde

(3) 3icafas sae (4)  3IEET Had

The beam on which windows are placed is .

(1) Plinth (2) Lintel

(3) sill (4)  Chhajja

g <IF FIT FgdTdl & o8 W f@sirar @ sy & 2

(1) o=y 2 fowca

(3) e @) oo

For which depth of foundation under reamed pile is used?

(1) 3-6m (2) 2-4m

(3) 5-10m (4) 0-3m

it T e e & T 3137 o3 urser &1 39T fohar ST § 2

(1) 3-6m (2) 2-4m

(3) 5-10m (4) 0-3m

The water which is safe and potent for drinking to human health is known as

(1) Hard water (2)  Soft water

(3) Wholesome water (4) Waste water

3 STef 1 T g & St TRI&TA & 3R ATeld Ty & fov e Aeg & 2

(1) "RTYET (2) HroT e

(3) uifSess relt (4) T UET

The purpose of best managed water work is

(1)  reducing pressure of water (2) increasing quality of water
(3) reducing blockage problem (4)  reducing losses of problem
HafaH Jaftd STel I T 36T FATE ?

(1) STcT 319 A AT | (2)  STeT IOTCT ST |

(3)  3ERIY HHEIT I T (4) T T FHEIT g AT |
What is the peak factor of population above 2 lakh?

(1) 1.0 (2) 1.9

(3) 3.9 (4) 2.0

2 oG A 37T ST &7 TH SRS FAT§ ?

(1) 1.0 (2) 1.9
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(3) 3.9 (4) 2.0

Dolerite is a type of

(1) Igneous rock (2)  Sedimentary rock
(3) Metamorphic rock (4) Aggregate
STeRTST fohdehT YK § ?

(1) 3T TeersT (2)  3HSHEr TcCTA
(3) FETART TcerT (4)  Yof TeerT

The soil which contains 90% of particles of size greater than 0.06 mm and less than 0.2 mm is

(1) Coarsesand (2) Medium sand
(3) Fine Sand (4) Clay

g FeT shieT AT Bl & FrEa 90% 0T 0.06 mm A §3 T 0.2 ¥ A TN & gl ¢ ?
(1) ¥gIxd (2 #FEAWT

(3) ST (4) @Al
The proportion of cement concrete in D.P.C. of 1st class building is
(1) 1:2:4 (2) 1:1.5:3

(3) 1:3:6 (4) 1:.4:8

5# Aol & 87aeT ST DPC H Waee Shshlc o 3faret fohele gielr § ?
(1) 1:2:4 (2) 1:1.5:3

(3) 1:3:6 (4) 1:.4:8

The unit of lime concrete in foundation in MKS is

(1) cu.m. (2) sg.m.
(3) sq.ft. (4)  cu.ft.
MKS # sfia # =11 Shehie 1 gahrs T g 2

(1) cu.m. (2) sg.m.
(3) sq.ft. (4) cu.ft.

Prime cost is

(1)  the actual cost of articles at shop (2)  the actual cost of carrying out of work
(3) theinterest rate on articles (4)  the percentage of the actual work done
HT AT FATE 2

(1)  EhleT & a&q T aCIfdeh ST (2)  IH e I AT AT

(3) TEPT WA I (4) TRT IT aRAfaS I FHT GIaqdT

The shape of the particle size distribution curve is represented by the

(1) Co-efficient of curvature (2)  Uniformity co-efficient

(3) Liquid Limit (4)  Effective size of soil

HOT IR AR a5 1 I Frareh ganT qafis s 2

(1) gk T IOIH (2)  UREYT IUTIH

(3) e HEAT (4)  FCT T THTET ITHR

In a Standard Proctor test, the mass of rammer is

7
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(1) 2.0kg (2)

(3) 4.5kg (4)
HaTeh SeFeX TIETOT H, GTHAC T Geg ATl Tohelell &2

(1) 2.0kg (2)
(3) 45kg (4)

The toughness index is the ratio of

(1) Plasticity index to Flow index (2)
(3) Plasticity index to Shrinkage index (4)
T AR foEehT ITaTd & ?

(1)  coTfEcehdr gaeieh § aTg elehich 2)
(3)  CoTiECehll erchich ¥ Hepelal Feehich (4)

2.6 kg
10 kg

2.6 kg
10 kg

Flow index to Plasticity index
Plasticity Index to Consistency Index

N . @- N .
CATRECehAT Faehich H MGl elehich

The width of National & State Highways in plain and rolling terrain for single lane is

(1) 12.0m (2) 6.25m
(3) 14.0m (4) 8.80m
e 3T 3aR-Terg arel 8T F {TT o & [T TS T T TTATET Hr Aisrs fhaesh g g 2
(1) 12.0m (2) 6.25m
(3) 14.0m (4) 8.80m

Waterway of the bridge is defined as

(1) the area through which water flows under a bridge superstructure
(2) the area through which the water flows under a bridge substructure

(3) the area between the two piers
(4) the area between wing walls

Tl T STAATT 36 & H IRATS fomam 11T &

(1) ag & I eanT STel Yol JI-HTaeT A FE & |

(2) @ & forash ganT STl Jof 39-HXaeTr & a6 &
(3) cSrEAisSTFHT T
(4) 9T EYaRT & &1 T &1

The materials placed in between the sleepers and the top of the formation is known as

The water from the ocean to the atmosphere, to the ground and back to the ocean again is

Rail
Points and Crossing

T
qise g SITaaT

Climate Effect change
High pressure

STeraTyg T qRacil

(1) Gauge (2)

(3) Ballast (4)

39 HIHIA T FAT FEd 8 Tord Tlq 3 HTAT & M & i @ Srarg 2
(1) 9= )

(3) i 4)

called

(1) Hydrologic cycle (2)

(3) Low pressure (4)

FETHNR § aRYHS, T8l @ ST 31 aTod HETERR H GTell &1 ST 3T FHgellel § 2
(1) STeraeiele =sh )

(3) M&IcH (4)

ERERAC]
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What is the diameter of receiver tipping bucket rain gage?

(1) 400 mm (2) 500 mm
(3) 300 mm (4) 100 mm
Rfrex fefeT s st AT T e fhd=T giar &7

(1) 400 mm (2) 500 mm
(3) 300 mm (4) 100 mm

Sub critical flow is also known as

(1) Laminar Flow (2)  Streaming Flow
(3) Shooting Flow (4)  Uniform Flow
9-Hifa TaTE Y IF N e ¥

(1) geeg gare (2)  YaTer gare

(3) U watE (4) UhHHAT 9dig

If the velocity of flow at given time changes with respect to space, then the type of flow is

(1)  Uniform (2)  Non-uniform
(3) Steady (4)  Unsteady
ol GHY TR YaTg T 39T TAUTH & FTY Fedl, o Ig HaT yaTg & 2

(1) UmHAT (2) 3JIgAT

3) &R (4 3IER

When Haryana Power Generation Corporation was established ?

(1) In1999 (2) In1990

(3) In1997 (4)  1n1993
ERATOT ITaX SFARAA FIGR2AeT HT TATIAT e g5?2

(1) 1999 & ) (2) 1990 H

(3) 1997 H (4) 1993 H

Which is the first paperless department of Haryana ?

(1)  National Institute of Research (2)  Haryana Industrial Training Institute
(3) Haryana Institute of Research (4)  None of these
ERITUT T TgelT Juord fIeTTeT hieT T7 82

(1) TS e HEATA (2) &R e gfieTor e
(3)  ERATOT FegaeIeT HEUT (4) TH QRIS AL
Who played significant role in the Revolution of 1857 in Rohtak ?

(1) Meos (2)  Ranghars

(3) Gurjars (4)  None of these
g 7 1857 T it H Fhaat AgeaqoT s1fAeT fers o 2

(1) =#Fara (2) THsiA

(3) IERIa (4 A A HE A
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When did the Haryana State Staff Selection Commission established ?

(1) January 26, 1970 (2)  October2,1970

(3) January 28,1970 (4) None of these

RO ToT FHARY T 3TATT T TATIAT Shel §é’ ?

(1) 26 STeTadr, 1970 (2) 2 3IFIS, 1970

(3) 28 SeTadl, 1970 (4) AN A RIS AR

Which police district is new in Haryana which is not the district, only the police district ?
(1) Palwal (2) Hansi

(3) Thanesar (4) None of these

gRToT A et AT gfere ST =T s=1rar 3147 § St fSterr =18l & sharer qford fovell &2
(1)  oefae (2) g

(3) U (4) ST @ FIS

Junior Woman National Boxing Champianship-2017 is held in which district of Haryana ?
(1) Ambala (2)  Kurukshetra

(3) Faridabad (4)  Rohtak

SR A AT STfeaeT AFTIARIT-2017 §RATOT 5 fohdt Torer 7 NI g3m?
(1)  3i€Ter (2 Fead

(3) wicEe (4) Ugas

Famous Television serial actress Barkha Bisht Sengupta was born in which district of Haryana ?
(1) Sirsa (2) Mahendergarh

(3) Hisar (4)  Rohtak

Tfereer EYell Aol 3TEThR ST e AeAa[eeT T STed AT o fohay vl 7 g31 o1 2
(1) fawar 2 #HeweIE

(3) fER 4) g

Which of the following newspaper was published by Pt. Nekiram Sharma ?

(1) Sanwahak (2)  Sandesh

(3) Niwaran (4) Wani

et 7 & ST a1 FAR-9F 4f3d AHRIA AAT GaRT YHifRId foham arm Ar?

(1) Hags (2) @eU

(3) fAaRor (4) arofr

Who is the founder of Swang theatre form in Haryana ?

(1) Deep Chand Bahman (2)  Kishan Lal Bhaat

(3) AliBaksh (4)  Pandit Lakshmi Chand
RO 7 TareT e FawT & TEATIH §

(1) &9 9g JgdT (2) RIS ST

(3)  37clr garer (4) dfsd o 9g

10
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The Shivalik hills are not found in the district of

(1) Ambala (2)  Panchkula
(3) Sirsa (4)  Yamunanagar
fRIaTfores IaaATeTy et fover 7 =181 ariy el &:

(1)  3rFaTel (2) dHapen

(3) o (4)  THAR

Which is the official language of Haryana ?

(1)  Hindi (2)  Urdu

(3) Gujarati (4)  Haryanvi
g Y TSTHTET HleT T E?

(1) fe=dr 2 3§

(3) oI )  ghamomr

Sir Chhotu Ram was a

(1) Peasant leader (2)  Poet

(3) Painter (4)  Sportperson
T BIE IH TH

(1) fraresar ) (2) A

(3) fEHER Y (4) @
Who founded the Bhiwani Boxing Club ?

(1) Jagdish Singh (2) Manoj Kumar
(3) Vijender Singh (4) Jasjeet Kaur
TR STTFEsT Forel T TATIAT forgey Fr o2

(1) S g (2) FAST FAR
(3) fo= e (4) STESd SR

In Haryana, first all women police station is inaugurated in 2015, at
(1) Sirsa (2) Ambala

(3) Panchkula (4)  None of these
RO #, 2015 3 Tgel FUT Al YT FEA T ST g3

(1) fBREr#H (2) IFEETTH

(3) dEpem H 4) SAH A FIS A
In London Olympic Games, wrestler Yogeshwar Dutt won

(1) Gold Medal (2) Bronze Medal
(3) Silver Medal (4)  Silver & Bronze both Medal

11
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67.

68.

69.

70.

T NefEush Yol 7 Ugerdlad AR & & ST g
(1) <o 9gs (2) FIETUEH
(3) WdYEH (4) IS JAT HIET Gl Ugeh

The Brahmins of Haryana are divided into four main groups, except:

(1) Dhimas (2)  Saraswats

(3) Sanketi (4)  Khandelwals
gRATOT & STEa0T A 7ET IR GG 7 arer A §, faw

(1) €A (2) ERET

(3)  Hehcll (4) W3oard

Which of the following was not as a captain of volleyball team, who belongs to state Haryana ?
(1) Late Sunil (2)  Balkar Chauhan
(3) Ishwar Singh (4)  Mehar Singh
ERATUT T s AT TTad, areiarel ST FT FodleT 78T @T &2

(1) ¥ gairer (2) dTerRT TigTeT
(3) SR RE 4 ARRE
Where is the Special Economic Zone established from the following ?
(1) Bawal (2) Ambala

(3) Mahendragarh (4) Gurugram
At & & A 3 817 (SEZ) T TUTIAT gl 6T 715 &2

(1) srae (2)  3FETCT

3) #HeegIe 4) IEaAH

Kala Amb (black mango tree) place near is being developed as a ‘War Hero Memorial’
by Government of Haryana.

(1) Sonipat (2)  Kurukshetra

(3) Panipat (4) Karnal

ERATOT TRAR EIRT ___ o FHIT U HTell 3 (il T J&T) T T Y&y w13 TAR
(@R ERY AR & ¥ & ffaa frar s grg |

(1) aegd (2 Fw&T

(3) urelua (4) ST
Saraswati Wildlife Sanctuary is in the district of

(1)  Hisar (2) Kaithal

(3) Sirsa (4)  Palwal

T 37 g 3aRog fha e 78 2

(1) fER (2) FHud

3) fawar (4) Yead

12
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The famous ‘Yadavendra Garden’ is situated at which place of Haryana ?

(1)  Morni (2)  Pinjore

(3) Faridabad (4) Karnal

Sflcy “Argdeg s’ gRATOM & ford T X Feyd 82

(1) #eh (2 fER

(3) wgEE (4) HTA

‘Sur Samman Award’ is given to the outstanding talent in the field of
(1) Sports (2) Literature

(3)  Agriculture (4)  None of these
T HEATT RERR o &1 A fafrse gfcen & forw vert o sirem § 2
(1) u 2 @i

(3) FWN (4)  FHA AP AL

Government of Haryana is planning to launch 'Haryana 100', a centralised police emergency
management system by

(1) August 2018 (2)  January 2018

(3) December 2017 (4) November 2018

gRATON THR @RI Hlehed e JHTTHIeN Jatial T, FRATCT 100" & deh TR e T Asfall
g7

(1)  3791Ed 2018 (2) STeTaxY 2018

(3) feaFsx 2017 (4) SGsR 2018

First International Aviation Security Seminar was organised by NSG in which district of Haryana
State ?

(1) Gurugram (2) Ambala

(3) Rohtak (4) Chandigarh

NSG EIRT T FTxAeIeTer VelTeeret fAFrgReT AR gRamom & fova fSrer 7 smanfsrd g3m ar?
(1) TRaH (2)  3dTer

(3) gaH 4) dNTG

As per recommendation of Shah Commission, all of the following districts were to be a part of
new state Haryana, except :

(1) Gurgaon (2)  Rohtak

(3) Hisar (4)  Palwal

QITE TN Y HTRIT oh TR, oA e @l forer Aafafaa gRamon Iea & fewar 3, Rary
(1) IsITa (2 Uedh

(3) faR (4) Yolgd

The Sl unit of heat is

(1) joule (2)  watt

(3) wvolt (4) newton

AT T S| SIS §

(1) St (2 de

o
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77.

78.

79.

80.

81.

(3) drec (4) g

a

Which nation became the first city in the world to have its own Microsoft-designed font ?

(1) Dubai (2)  Sharjah
(3)  Frankfurt (4) Graz
sl TT 22 3T HATSHIAIFE TS Blee o [T GIAT hT gl AL FF TATE 2
(1) gss (2) R=E
(3) hethe (4)  mer
Who organized the Indian National Army ?
(1) Veer Sawarkar (2)  Subhash Chandra Bose
(3) Bhagat Singh (4)  Chandrashekhar Azad
foraet 31053 arereTer T Farfad $r 2
(1) IR AR 2 gHVHe S
(3) seTafdE (4) TEAWR TG
On October 6, 1945, the first atom bomb was dropped at
(1) Hiroshima (2) Tokyo
(3) Yakohama (4)  Nagasaki
HFCE 6, 1945 I UgeI USH S shgl [FIT 31T AT ?
(1) TR (2 ofFar
(3)  TreRrgTAT (4)  ATITETR
Arrange the given words in the meaningful sequence :
1. Selection
2. Interview
3. Job Posting
4. Advertisement
5. Application
(1) 45231 (2) 45213
(3) 42153 (4) 34512
Toe=ATerfre ersat T 3rdquT vy & T
1. faeer
2. Feey
3. Slig ifkeT
4,  USACISAHC
R G IE T
(1) 45231 (2) 45213
(3) 42153 (4) 34512

Introducing Soniya, Shashtri said, "She is the mother of the only daughter of my son." How

Soniya is related to Shashtri ?
(1) Daughter-in-law (2) Wife
(3) Daughter (4)  Mother
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82.

83.

84.

85.

86.

87.

mﬁmaﬁrqmwﬁ'g"wrr\'——:ﬁﬁargr, "gg AY 9 T THATAT ST A AT & | O Afaar el O 7y
bR Fefid g ?

(1) =g (2 Het

(3) & (4) A
Choose the word which is different from the rest.

(1)  Physics (2)  Chemistry
(3) Biology (4)  Statistics
TAF=TTITET Qreal 7 & 37efaT e Yo -

(1) s (2) AT
(3) STArErST (4) TOEcFT
Choose the remaining alternative to complete the series :

Al B2 CC_33

(1) B2C3 (2) B22C

(3) B2CC (4) BCC3

Aot T Q@ A=A & TIT G Taehod o |

Al B2 CC_33

(1) B2C3 (2) B22C

(3) B2CC (4) BCC3

The value of 24.424 + 5.656 + 1.131 + 0.089 is

(1) 31.003 (2) 313
(3) 31.0003 (4) 31.03
24.424 + 5.656 + 1.131 + 0.089 FHT AT § :

(1)  31.003 (2) 313
(3) 31.0003 (4) 31.03

The average of the first five multiples of 3 is

(1) 3 (2) 9
(3) 12 (4) 15
3 o Ul UTe I[UTehl T AT TE ¢ :

(1) 3 (2) 9
(3) 12 (4) 15

If 75% of a number is added to 75, then the result is the number itself. The number is

(1) 50 (2) 60

(3) 300 (4) 400

e fohel T&T T 75%, 75 H ST AT &, A IROMH Jgl AsK 8T & | O T&AT &
(1) 50 (2) 60

(3) 300 (4) 400

A can do a piece of work in 4 hours, B and C together in 3 hours, and A and C together in 2 hours.
How long will B alone take to do it ?

(1) 8hours (2) 10hours

(3) 12 hours (4) 24 hours
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88.

89.

90.

91.

92.

93.

ATH FIH AT H N JhaT g, BIR C AT @ FH 3 Ge A R Thd 8 3R AR C A 2 g¢
A HT ord &, dT B 1 g I 3Tehol et A fohdey B¢ oT31aT ?

(1) 8®ue (2) 10%®Q

(3) 1286 (4) 248

Which part of eye controls size of a pupil ?

(1) Cornea (2) Iris

(3) Retina (4) Eyelens

o T el AT TREAT Yeiell &1 TR AT HLar g 2

(1) wifear (2) 3Ry

(3) e 4 IS
Non-metals are .

(1)  Electro positive (2)  Electro Bond

(3) Electrophile (4)  Electro Negative
aAteT-Aeod gl

(1) Seomrcr-difafea (2) Soacl-dles

(3) soiacr-fhelr (4) SolFgr-adifea
Which gas is used to prevent oxidation of chips in its sealed plastic bag ?
(1) Oxygen (2)  Carbon Monoxide
(3) Nitrogen (4) Hydrogen

Hrereie colTieea 997 # RIed (@ 9ere) &1 HTFEE0T kel & folv o 3 &1 sEaATe fohar Srar
g7

(1)  3iierdrste (2) FET AAFARES
(3) =sgS (4)  grggisiT

Supply suitable article in the following blank if needed :

| first met him year ago.

(1) a (2) an

(3) the (4)  no article

Supply suitable preposition in the following blank :

We have been playing Cricket the last four hours.
(1) of (2) since
(3) on (4) for

Give one word substitute for the following expression :
is a shelter for dog.
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(1)  Hutch (2) Lair

(3) Mint (4) Kennel
94, Select the word from the following that is most similar in meaning to the word in capital letters:
FARCICAL
(1) Grave (2)  Dismal
(3) Droll (4) Solemn
95. Select the word from the following that is opposite in meaning to the word in capital letters :
PEERLESS
(1) Matchless (2)  Ordinary
(3) Paramount (4)  Unique

96. ‘AT L FAT o Y FT [T o T Ul ST [T areramer & v veh ereg &

(1) de&x (2) fRaedr

(3) frerceatase (4) FHs
97.  foIF=T # § el € HATH Gdcd T 3BT ?

(1) =Rmer (2) 9T

(3) TUREa (4) oIFERI

98. ‘dIRTEN A, ITTRTIATE |' H HleT AT ARR & ?
(1) IHP NdHR (2) 3YHAT AHARR
(3) ¥ U HedPR (4)  3IET 3R

99. 'fIOT e T TG U &

(1) #=Of,RE (2) =, afea

(3) fearwy, @& @) de, dr
100.  GaqUT T Telle ereq &

Q) g (2) 3T

(3) aoT (4) 3T

]
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